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PAQ3CECO03 - QUANTITATIVE ECONOMICS

Note: Figures to the right indicate maximum marks of the question. Total Marks- 70
A el oty sl vl waddl HedH e sUid 6. 56,961 70

Q-1 (A) Explain the types of diagram and narrate its importance, @itg{d4l W12l AHAAAL el d Hged qeldl. 09

(B) Subject to the following constraints optimize the given objective function using linear planning. 09
{1341 WROELA 2B YR 2iler el Gudiol s34 2l ddasll [AHAA Sedy s,
Objective function (Saaell [QHn); C = 3X +4Y where, C = cost (V7))
Constrains (W[AeiHl); OX + 2Y = 27
3X +4Y = 30
2X + 5Y = 25

Non-negative conditions (<@ @dl); X > 0 and Y > 0

OR (¥44l)
Q-1 (i) What is economic model? Discuss the income determination model of Keynes with the meaning 09

of its elements.
i[5 Wit Wed g 2 3L vilas ((HRE WA d- aesi- 2l aled 2l 53,

(i) LetD =134 — 2P and S = 4P — 10 be the demand and supply functions respectively for a 09
commodity. Where, D = demand, S = supply, P = price. Then find out;
HIZE D = 134 — 2P 24 S = 4P — 10 2AdsH s ddl HipL il Yasl (A8l 9. sl D=4,
S=ya6}, P = (d. 4l €t :

a) Equilibrium Price and Quantity YU (FHd 2 exeell
b) Tax rate which would increase price by 50 % EHAHL 50% 98121 AL W2l sl 22
¢) Income of the Government from this tax 21 s2Hied] U 21
d) Total tax burden on consumers Algs Ul 56 52 olisy
¢) Total tax burden on producers Geules Ul 54 52 oller
Q-2 (A) Give the meaning of matrix. Explain the various types of matrices with appropriate illustrations. 09

Al o1 wunl. At (ARY Usidl 1104 Gl Al wHatdl,

B Find out an inverse of a following matrix and prove that A x Al=1 08
| 3 Asl wAy Dl s uBd sAFAx AT =1
o 2 2
A=l-1 3 1
4 -3 =6

OR (144Y)

Q-2 (i) Define determinant. Explain its types and properties with appropriate illustrations. 2
[Rsaqsa caivgd 53l dedl 1513 il ol dion Geleri wled Ansydl 24l

(i) Solve the following problem using Cramer’s rule. (C= consumption expenditure, S = saving and 05
Y = income)
T2 sl Guaioy s9A 3 undl Gl ( C= quia wd, S = olad vid Y = #ids)
Y=C+8S
C=100+04Y
S=50+0.25Y

@ ©(PTOY)




-3 (A) Describe the various types of set and processes on set with appropriate illustrations. 12
oLl (A48 1Rl 2 oL BuizlAl oy Gelewl wd wuaydl 2,

(B) In a group there are 7 males and some females. The probability to select 2 females randomly 03

isl/ 15- Then find out the total numbers of females in the group.

Ny -

25 oyl 7 Yol wid Seells w{lall 8. age dd 2 wllall waie aqldl deudqd 1/15 8. dl syuui
{lulid] sat 2dvl gl
OR (234l
)-3 (i) Explain the concept of probability and discuss the various events of probability in detail. 07
AetiadlAl v uumal vid deuddl [QEY uzailidl Baqd i s,

(ii) Descrjbe Lorenz Curve and draw Lorenz Curve using following information. 10
ctldrob qgefl Aoyl vl 2 LR 1l Guaion 594 diReoy as €131,
Town-A | Persons {541l 100 | 120| 130 | 115|135/ 90 | 118] 150| 160} 100
WS- | Daily Income Bfis 2ids | 600 | 575| 625 | 750 | 500| 425 | 635| 575] 745 900
Town-B | Persons cd[sdil 70 | 90} 50 | 45 | 100] 40 | 55| 110{ 40| 50
A= | Daily Income £Fis »iias | 1000] 800| 1125| 1300| 975, 1050! 985| 675| 100] 700

)-4 (A) Which is the ideal measure of central tendency? — Present arguments with appropriate examples (9
to support your opinion.
uiagdl (Reldd 48 Hiu s 97 drL xu[ad) Andqui dioy Gelwanl A1 edldl 6y 53,

o

(B) The runs made by three players in last ten innings are as follow. Using this information find out 09
which player is more consistent.

Beal £y etqul A0 el oididan 24 U yovor 8. 2L Wl Guabl sA4 sl Hendl aui

UldAUHR & d WiHl,
Player (Wialdl) - A 50 | 300 100 | 125 | 10| 182 | 85| 30 | 10
Player (Malél) -B 89 | 75| 45 65 | 85| 100 | 34| 52| 90
Player (Waldl) - C 200 | 10| 15 120 | S 2 12135 1
OR (¥44l)
-4 (i) Discuss the following measures of dispersion with usages in economics. ‘ 12
{12t wARMLAlAL 2R Gudiall Afsd Al 5,
(1) Average Deviation CEENCETERY
(2} Standard Deviation (HmetrL [QeA)
(3) Variance (l?{-‘ewgl)
(4) Quartile Deviation (2{@?33 (Az1a)
(ii) Find out Mean. Median, Mode and Standard Deviation for following data. 06

el vuladl Wiz Hius, wbaze, olgds vid WU (e bl
Class interval (qp‘L Q_;{d%]_(—{) (0-10(10-20{20-30|30-40|40-50|50-60160-70{70-80:80-90(90-100
Frequency (»l9x) 0172521 6 (1912|1530 20




